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８－１ ひき算のたしかめ 

 

１． 

① ４７  たしかめ ４７＋１８＝６５ 

②  ７  たしかめ ７＋２６＝３３ 

③  ７  たしかめ ７＋３３＝４０ 

 

２． 

① ４４  たしかめ ４４＋６＝５０ 

② １６  たしかめ １６＋６５＝８１ 

③ ７０  たしかめ ７０＋２３＝９３ 

 

 

８－２ ひき算のたしかめ 

 

１． 

① １９  たしかめ １９＋７＝２６ 

② ２８  たしかめ ２８＋１３＝４１ 

③ ３５  たしかめ ３５＋２０＝５５ 

 

２． 

① １４  たしかめ １４＋４６＝６０ 

② ２５  たしかめ ２５＋５４＝７９ 

③ ４９  たしかめ ４９＋３９＝８８ 
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８－３ ひき算のたしかめ 

 

１． 

① １４  たしかめ １４＋１８＝３２ 

② １２  たしかめ １２＋１０＝２２ 

③ ２８  たしかめ ２８＋４５＝７３ 

 

２． 

① ２９  たしかめ ２９＋３７＝６６ 

② ４２  たしかめ ４２＋８＝５０ 

③ ３２  たしかめ ３２＋６３＝９５ 

  

 

８－４ ひき算のたしかめ 

 

１． 

① ２５  たしかめ ２５＋３３＝５８ 

② ２１  たしかめ ２１＋８＝２９ 

③ １９  たしかめ １９＋１７＝３６ 

 

２． 

① ３２  たしかめ ３２＋３９＝７１ 

②  ６  たしかめ ６＋４０＝４６ 

③ ３３  たしかめ ３３＋５１＝８４  
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８－５ ひき算のたしかめ 

 

１． 

① １４  たしかめ １４＋２５＝３９ 

② １９  たしかめ １９＋２１＝４０ 

③  ９  たしかめ ９＋４６＝５５ 

 

２． 

① ３５  たしかめ ３５＋３５＝７０ 

② ８７  たしかめ ８７＋９＝９６ 

③ ４７  たしかめ ４７＋１７＝６４ 

  

 

 

８－６ ひき算のたしかめ 

 

１． 

① ２８  たしかめ ２８＋３３＝６１ 

②  ４  たしかめ ４＋２５＝２９ 

③ ３８  たしかめ ３８＋４０＝７８ 

 

２． 

① ７４  たしかめ ７４＋１８＝９２ 

② １４  たしかめ １４＋３６＝５０ 

③ ２１  たしかめ ２１＋６６＝８７ 

  

 

 

 

 

 

 

 

 

 

 


